
Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

Please write WEEK 4 in bold at the beginning of your answers.

Week 4

L5: The FQM + why the CB may be unable to prevent U
1.What is the Fundamental Question of Macro?
2. Reproduce the initial scheme of the lecture (the so-called ‘circular flow of expenditure-output-income”) along with the graph S vs. I + AD vs. FEk,l for June assuming:

C = 0.5.Y

Ms = C = MB

AD in May = 200 euros

Id in June = 100 euros.

3. Assume now that Id in July falls to 50 euros. Explain how the CB might be able to prevent U. Illustrate with the appropriate graph.
4. Explain the first reason why the CB may not succeed. Illustrate with the appropriate graph.
5. Explain the second reason why the CB may not succeed. Illustrate with the appropriate graph.

6. Assume that, despite the CB’s action, Id in July remains at 50 euros. Explain what happens in to (i) Cd, S, AD, Output and income and to (ii) the Ms:


a) In August.


b) In September.

7. Would the evolution of the economy be better or worse if C behaved according to permanent rather than current income? Explain.

8. Summarize the recessive spiral the economy finds itself in.

9. As long as S > I, AD in one month leads to a smaller AD  in the next month.  Why?
10. So, at which level of income will the recessive spiral end? Explain.
11. Write the new steady state of the economy with the new values of the variables in the circular flow scheme.

12. Consider the vicious circle:

a) Why is there U?

b) And why is AD low?

13. Consider the previous virtuous circle:

a) Why was there FEk,l?

b) And why was AD high?

L6: Vicious and virtuous circles + the paradox of thrift + secular stagnation

14. Suppose that saving in a closed economy is initially = 0. If all people decide to save, that will not be enough for an increase in consumption possibilities between today and tomorrow. Why?

15. Suppose that saving in a closed economy is initially = 0. If all people decide to save, if the CB is successful an increase in consumption possibilities between today and tomorrow will take place.


Why? What will happen to the level and the composition of output? Explain.

16. Suppose that saving in a closed economy is initially = 0. If all people decide to save, if the CB is unsuccessful an increase in consumption possibilities between today and tomorrow will not take place.


a) Why?

b) What will happen to the level of output, the amount of savings and the quantity of money? Explain.

17. As long as S > I, AD falls from one month to the next. Why?

18. Why has Japanese private investment been so low over the past 20-odd years?

19. a) What has been the interest rate of the BoJ over the past 20-odd years?

b) Without fiscal policy, what would have happened to the Japanese GDP? Explain.

20. a) Despite private investment permanently below private saving over the past 20-odd years, Japan’s economy has remained near full-employment. What made this possible? Explain.

b) Without fiscal policy, what would have been the current stock of Japanese private savings compared with its actual stock? Explain.
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